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1. I%a b-ceZ > HI™IIEHT p SRLZTEFT (X) = 2x* + ax® + bx? +CX + 5 Izt 2
(A)x—1 (B)2x-1 (C)x+2 (D)5x 1 (E)3x-5-¢
Ans : (C)(D)(E)
AT
FIP = TPzt ffy gy
T F)E px—qfuH=" s p-qeZ p=20-(p-q)=1-f]Ipl2-q]5
A PI2FY qr5 o JIIE ()M px = g s
X+2>5x—13-5v7ZE f(x)pupd=t

2. TLIAT (ORI (X - 1)(x = 2)(x — )V ERVEL 2 +x =7 0 ||
(A) FOQI=T x — 1 pYER=" 1D 4 (B) f (& |x — 2 fuR= 17 3
C)f (M) Ix - 3FUaR=1% 14 (D) F OOB&TJ(x — 1)(x — 2)FUER=V 1T 7x — 11
(B) fOQF=I ] (x = 2)(x — )FVERZ KL 11x + 19 -
Ans : (B)(C)(D)
AT
l%‘f(x)—(x DX —2)(X—3) Q(X) + 2X* +x - 7
(A) FOOBET X — LAYER =x - 12 2 +x -7 VEE=" =—4
(B) f (&) X — 2 fUBs=" =x 2[R 2% +x -7 VE&=" =3
(C) FOB&ET x - 3R =x-3[& 2% +x -7 V=" =14
)
J

=

(D) f OQB&T (x = 1)(x = 2)FYER = (X — 1)(X - 2)[& 2x° + x — 7 V=" =7x - 11
(E) f OQB&TJ(x = 2)(x = 3)FYERTY = (X — 2)(x — 3)& 2x° + x — 7 V84=" = 11x - 19

— ERB(BEL D)
1. a bty ﬁ%\f’ | 2x — 3% 3x + 1 H5ER ax® + bx? — 47x — 15 FUp=0 s fl[gr (a0 b) =
Ans : (24 2)
AT
—.&Jf(x):ax3+bx2—47x—15
Kn-3[f(x) = f(%):o N % Z|o—£21—15 0= 3a+2b=76@

A+1[f(x) = f(%l)zo = —%a +=b+ 4—37—15 0= -a+3b=-18"@

O+@x3 11b=76-54=22 .. b=2{"" Q@M a=24

2. F% () =a(x-1)(x-2) +b(x-2)(x=3) +c(x = 3)(x—1) » Hflia b > C%@”ﬁﬁ'@\'f’ +f(10) =t
(100) = f (1000) =5 - [I[[F-5=(@ > b > ¢) =
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.,5 b
Ans.(z > -5)
e
f(x)=a(x-1)(x-2) +b(x-2)(x—3)+c(x—3)(x—1) > degf (x) <2
~ f(10) =f(100) =f (1000)=5 .. f(x)=5
Jdlax-1)x-2)+b(x-2)(x—3)+c(x—3)(x—1)=5
x=3[%7 H2a=5 .. a=g
X=1f{7H2b=5 .. bzg
X=2R~*H —-c=5 .. ¢c=-5

5 5
a’b’C:_’_’—S
@b 0=(; > -5

B

7
nd

3. I?Qz‘f (X5 22 PIx=1FRVERS > Nix+ 2RV ER 25 JIIf QBRI (x — D)(x + 2) 7 =1

Ans: x+4

BT
fOEMN x-18'5 = f(Q)=5
fFOFEIN x+268:72 = f(-2)=2
—.&Jf(x):(x—l)(x+2)q(x)+ax+b
flf(l)=a+b=5>f(-2)=-2a+b=2
e a=1>b=4 .. Elax+b=x+4

4. ) =x"+ 3 —2x—15g(x) =f(@2x—3) HII') 2x - 1&g ()T I &= 17,
Ans: 31
EJ@[#?:
f)=x*+3¢-2x-1>g(X)=f(@2x—3) > I'] 2x — 1 [i&g ()T I gh=" £
g(%)=f(2x%—s)=f(—2)=(—2)4+3(—2)2—2(-2)—1:31

5. 2 () f(X)+ (X=3)VEREL 2> f(X) + (22 +5x —3)VEE=V G 4x -1 » Al
(D)f () = (2% = Tx + 3) V =1 1% ,
(2)f (X) + (x — 3)(2x* + 5x — 3) .V =1 1%,

Ans : (1) gX+ﬂ ; (2) —EXZ +Ex_i
55 5° 2 10
Ejl_iﬁ:
f(x) = (2x° +5x = 3) qu(x) + 4x — 1 = (2x = 1)(x + 3) qa(x) + 4x — 1

1 1
f(Z)=4x>-1=1
(5)=4x3

2P —Tx+3=(2x-1)(x-23)
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00 = (2x - 1)(x-3) G209 +alx~3) +2 - f(%):a(%—3)+2:1 = a:%

f(x) + (2 = Tx + 3)fiUgs=" EZ% (x-3)+2 :éx +%

F% () = (x — 3)(2%* + 5x — 3) q3(X) + b(2x* + 5x — 3) + 4x — 1

f(3)=2 = b@x3?+5x3-3)+4x3-1=2= 30b+11=2 .. b:—%
it () + (x = 3)(2x% + 5x — J)fUERT ’?T'Ez—i(ZX2 +5X—3)+4x - 1= eyt
10 5 2 10

6. I%%TEJ?W &I x =15 X2 —2x+3 VERAAVEL 25 4x+6 > [l

OO (X — 1) — 2x + )FUERTV 1T, .
Ans @ —4x*+12x -6
@ﬁﬁ:
f(X)=(x-1)0=2x+3)h(X) +a(*—2x+3) + 4x + 6
f(l)=2a+10=2 = a=-4 LB — A +12x—6

7. % %% — 3% - 6x + 8 Foblix —akx + 22T > BORATE | GC AV R i £

Ans : 159 -2
BT
-3 —bx+8=(x-1)x+2(x-4) .. a=1f -2

8. Ff(x) e R[x]= degf(x) >3 =3I (X=](x+ 1)%683x+2 0 F ORI J(x—1)%88 2x+ 1 >

IE GOBRT (x = 1)(x + 1)°V B4 43 °
Ans: “iytpox4d
2 2
e
00 == Dx+1)°a () +a(x+1)" + (3x+2)
f(1)=3 = 3=4a+5 .. a:_?1

STRERTUEY _71(x +1)%+ (3x + 2) :_?1x2+ 2X +g

9. l%a’b eNceZFx—ax! +x° =20 + x+ 2 £~ FHFx—c-[la+b+c=
Ans : 4?‘} 5

AT
—.&Jf(x):x5—ax4+x3—2bx2+x+2’ x—c|f(x) = c|2 = c=+1>+2
c 1 -1 2 -2
f(c)=0la+2b=5 a+2b+1=0|4a+2b=11{2a+b=-5
a=1ob=2/ (FA) | (FA) [ (PR
a=3-b=1
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a+b+c:4ﬁ95

10, PSR 2TE 3 - 2x° -5 —Ax—4=_ -
Ans: (X+1)(x—2)3x% +x+2)
%Wﬁ
—ﬁf(x):3x4—2x3—5x2—4x_4  f(-1)=0>f()=0
= X+1)[fX)Ex-2)|f(Xx)

= (X+1)x-2)=0-x-2)|f(x)
=

3+1+2
1—-1-2)3-2-5—-4—4
3—3-—-6
+1+1—4
+1—-—1-2
+2—-2-—-4
+2—-2-—-4
0
= fX)=-x-2)BC+x+2)=X+1)(X-2)BC+x+2)

11. {*fy7° - 6(7°) — 8(7%) + 10(7°) — 25(7%) + 30(7) + 5 =
Ans : 19
AT
%gf(x)::XB—-6X5—-8X4+-10X3—-25X2+-30X4—5
7° — 6(7°) — 8(7%) + 10(7%) — 25(7%) + 30(7) + 5 =f (7) = x — 7 [i&f (X) I ="
B =f(7)=19

1—-6—-8+10—-25+30+ 5|7
+7+7— 7+21 —28+ 14
1+1—1+ 3—4Lk2+l2

12. KED IR FF (0 =X - 28+ 4k — 3 F G A SRk

Ans @ -11

AT
T QOB WPt sl ax—bo [flal1-b| -3 Hlax—bfi'fix+1- x+3
Dx+1]f() = f(-1)=0= 1+2+1-k-3=0 = k=1(F})
2Q)x-1]f(x) = f(1)=0 = 1-2+1+k-3=0 = k:3(Tﬁ)
@x+3|f(x) = f(-3)=0= 81+54+9-3k-3=0 = k=47 (}{})
@)x-3|f(x) = f(3)=0=> 81-54+9+3k-3=0 = k=-11
firk=-11

13, 27 () 0 M (x—1)(x - 2)f= V HERZVEL 20x — 6 > I'J(x — 2)(x — 3)[= 1 tHER= £
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32x =30 > I (x = 1)(x = 2)(x = )= f ()ER="

Ans : 6x°+2X + 6

T
F%*f(x) =(x—1(Xx-2)qu(x) + 20x— 6
M (X)=(Xx—2)(x—3) g2(x) + 32x — 30
F%*f(x):(x—1)(x—2)(x—3)q(x)+ax2+bx+c

=x-1Dx-2)(x-3)g(x)+a(x—-1)(x—2)+20x - 6

Fif (3)=32x3-30=66
Hf(3)=2a+60-6=66 .. a=6
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